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Introduction
Issue 2 open item considers whether we should use the last spare bit from MIB.In this paper we consider this aspect in more detail;
Issue 2
For the signaling of QCL relationship between SSBs (so-called Q), RAN1 has agreed on the following:
For signaling of Q for a serving cell with possible values {1,2,4,8}, the following is supported:
• If RAN2 agrees to use the spare bit and still allow release independent introduction of the 6 GHz band, then Alt 1-4 is supported, otherwise Alt 1-2 is supported:
       o        Alt 1-2: For operation with shared spectrum channel access, the UE interprets the following 2 bits of  the Rel-15 MIB for providing the value of Q
              §        ssbSubcarrierSpacingCommon (1 bit)
              §        LSB of ssb-SubcarrierOffset (1 bit)
       o        Alt 1-4: For operation with shared spectrum channel access, the UE interprets the 2 bits in the following two fields of the Rel-15 MIB for providing the value of Q
              §        ssbSubcarrierSpacingCommon (1 bit)
              §        spare (1 bit)
RAN1 will down select between Alt 1-2 and Alt 1-4 above. In both options, ssbSubcarrierSpacingCommon in MIB is used as part of the derivation of QCL relationship. Note that in, NR licensed, this IE is used to indicate the SCS for SIB1 which is not needed for NR-U as SIB1 SCS is same as that of the SSB.
The issue is whether Alt 1-2 or Alt 1-4 is preferable from RAN2 point of view. Alt 1-4 requires using the last remaining bit in MIB. 
Nokia proposed to agree to Alt 1-2 so as not to use the last spare bit. 
Even though RAN1 is also discussing this, it is appropriate for RAN2 to express an opinion.

Discussion
Indeed the down-selection between use of sub-CarrierOffset and “spare” to carry Q in MIB was left open by RAN1 and an LS has been sent to RAN2 (LS R1-1913592, attached). Thus we do not expect RAN1 to solve whether reinterpretation or using the spare bit approach is chose. Thus the decision should be done in RAN2:
Proposal: RAN2 should decide which approach to take on issue 2 (not RAN1)
If we would use the last spare bit of MIB for the purpose would mean that it would not be possible to define any new usages for MIB in future thus drastically limiting future developments of NR. Thus we propose:
Proposal: Do not use last spare bit of MIB
 
Conclusion
Proposal: RAN2 should decide which approach to take on issue 2 (not RAN1)
Proposal: Do not use last spare bit of MIB
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